(-8xmy2)° = ~2115)8 oK m 4 n o] kS Fatolel.
=1

>
> = 14

B

(_8xmy2)3 _ _2nx15y6

(_23)3 — _9n
on=9

B3m — 415
Som=395

w2kA m + n = 14|},




2. 4%l = g0 — 642t B W), a+ b0 G Fotolet.
g

>
> et 3

od -

B

420+1 _ 2 5 4
= 424 x 22
= 42%a x 2b
=64
=96
=24 x 22
=42 x 22
20=2,a=1, b=2
La+b=3




3. 20x542 nAe o] AAolch nol kg Fatolel,
=

>
l> b= 13

oH =

2%x5=10°|BE&
5% % 210 % 510 — 54 5% 1010 = 625 x 1010
whetA] 13 ZF] o] ZFa=oltt




34x—6
= gerz 338 =81 =34
. 3x_8:4, x:4




5.

a®x?%y3 x (—xy)b = =8xy0 & W, ZA5= a, b, coll thoto] ab — 2¢ 9]
A2 oot

> &

> ™t 4

B ‘

a3x2y3 X (—xy)b _ a3 X (_1)b X x2+b ><y3+b

= —8x%°

a3x(—1)b=—8,2+b:c,3+b:6°]_‘:‘_i
a=2,b=3,¢c=5
L ab—2c=2%x3-2x5=-4




